
l;=g+= cfo zLif{s /sd -? xhf/df_
l;=g+= Joo zLif{s ljlgof]lht /sd -? xhf/df_

1
ufpFkflnsf cfGtl/s cfDbfgL 12956 1 rfn' vr{ tkm{ 49978.00

2
;+3Lo /fhZj afF8kmfF8 72111.456 2

;8s, vfg]kfgL tyf ;+3 ;+:yf ;fem]bf/L 70379.46

3
;+3Lo ;dfgLs/0f 125900 3

lzIff, o'jf tyf v]ns'b 10668.00

4 k|b]z /fhZj afF8kmfF8 12704 4
:jf:Yo 15190.00

5 k|b]z ;dfgLs/0f 10004 5 ;'zf;g tyf ;+:yfut ljsf; 8660.00

6 /f]oN6L afF8kmfF8af6 k|fKt /sd -;+3_ 0 6 ko{6g ljsf; tkm{ 9200.00

7
ut cf=j=sf] qmdfut of]hgfsf] 

e'QmfgL x'g afFsL 31510
7

dlxnf afnaflnsf tyf Ho]i7 gful/s tkm{ 4190.00

8 ut cf=j=sf] df}hbft 13490 8 snf, ;f+:s[lts k|j4{g tkm{ 2100.00
9 pBf]u, jg, jftfj/0f tyf ljkb\ Joj:yfkg 7700.00
10 s[lif ljsf; tkm{ 5900.00
11 kz' ljsf; tkm{ 3650.00
12 Goflos ;ldlt tkm{ 1550.00
13 ut cf=j=sf] qmdfut of]hgfsf] e'QmfgL x'g afFsL 31510.00

14
j8fut ah]6 -j8f g+= !, @, # / $ sf nflu ? &)÷&) nfv / j8f 

g+= %, ^ / & sf nflu ? !÷! s/f]8_ 58000

hDdf -s_ 278675.456 hDdf -s_ 278675.456

1 ;+3Lo ;zt{ cg'bfg 199000 1 ;+3Lo ;zt{ cg'bfg 199000

2 ;+3Lo ;dk'/s 3300 2 ;+3Lo ;dk'/s 3300

3 k|b]z ;zt{ cg'bfg 28139 3 k|b]z ;zt{ cg'bfg 28139

4 k|b]z ljz]if cg'bfg 3500 4 k|b]z ljz]if cg'bfg 3500

5 k|b]z ;dk'/s cg'bfg 17351 5 k|b]z ;dk'/s cg'bfg 17351

hDdf -v_ 251290 hDdf -v_ 251290
s'n hDdf -s ₊ v_ 529965.456 s'n hDdf -s ₊ v_ 529965.456

cf=j= )&&÷&* sf] cfo cg'dfg cf=j= )&&÷&* sf] Joo cg'dfg

cf=j= )&&÷)&* sf] ah]6 ;f+/fz


